RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approval of Youth Suicide Prevention FY2008 Budget Amendment #1 that creates the Position Administrative Assistant cost shared with Recovery Community Services)

RESOLUTION NO. 08-436

1	WHEREAS,	the Tohono O'odham Legislative Council initially approved Youth Suicide Prevention
2		Budget in FY 2008 in Resolution No. 07-601; and
3	WHEREAS,	the Tohono O'odham Legislative Council approved FY 2008 Youth Suicide Prevention
4		Budget; and
5	WHEREAS,	there is sufficient saving of \$130,895.01as of 6/30/08 expenditure report to cover
6		increases in line items and to fund position in the amount of \$58,254.79; and
7	WHEREAS,	the Youth Suicide Program requires Administrative Assistant support of the planned and support and support of the planned and support
8		suicide prevention activities; and
9	WHEREAS,	this budget is amendment to establish an Administrative Assistant position along with an amendment amendment
10	ļ.	salary and fringe benefits which amends the FY 2008 Budget; and
11	WHEREAS,	the Administrative Assistant position will be cost shared between the Youth Suicide
12	.	Prevention and Recovery Community Services Budget; and
13	WHEREAS,	the Youth Suicide Prevention Grant cost share amount is \$8,950.72 and the Recovery
14	1	$Community Services\ amount\ is\ \$18,172.67\ for\ a\ total\ of\ \$27,123.39\ with\ fringe\ benefits;$
15		and
16	WHEREAS,	increases are applied in line items: 650, 660, 662, 710, 711, 720, 721, 810, 860 and
17		decreases in line items: 610, 620, and 900.
18	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
19		approves the FY2008 Youth Suicide Prevention Amendment #1 of \$58,254.79 which
20		creates the Administrative Assistant position with the salary of \$8,950.22, fringe
21		$benefits\ included, and\ increase\ in\ line\ item: 650, 660, 662, 710, 711, 720, 721, 722, 810,$
22		860 and decreases in line items: 610, 620, and 900 as per attached budget.
23	BE IT FURT	THER RESOLVED the Youth Suicide Prevention Grant cost share amount is \$8,950.72
24		and the Recovery Community Services amount is \$18,172.67 for a total of \$27,123.39
25		with fringe benefits.
26	BE IT FINA	LLY RESOLVED that the Tohono O'odham Legislative Council hereby Authorizes the
27		Chairman, the Vice-Chairman and any designated official to expend and administer
28		the budget as attached, provided that any amendments affecting the funds or funding and funding are the funding
29		level shall be submitted for further prior approval by the Tohono O'odham Legislative
30		Council.
31 32		
	ļ	

	RESOLUTION NO. <u>08-436</u> (Approval of Youth Suicide Prevention Administrative Assistant cost shared with Page 2 of 3	FY2008 Budget Amendment #1 that creates the Position Recovery Community Services)								
1		the Tohono O'odham Legislative Council on the <u>10TH.</u> Day								
2 3		orum was present with a vote of <u>2,534.5</u> FOR; <u>-0-</u> AGAINST ant to the powers vested in the Council by Section 1 (d)(2)(3								
4		of the Tohono O'Odham Nation, adopted by the Tohono								
5		and approved by the Acting Deputy Assistant Secretary								
6	Indian Affairs (Operations) on March 6,	1986, pursuant to Section 16 of the Act of June 18, 1934 (48								
7	Stat. 984).									
8										
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL								
10		February Muniter Live								
11		Jewes muy for								
12		Verlon M. Jose, Legislative Chairman								
13		17th 0 1								
14		17th day of <u>July</u> , 2008								
15	A THE COM	ν								
16	ATTEST:									
17 18	Sum Jopa									
19 20	Lucille Lopez, Acting Legislative Secretary									
21	10 day of <u>July</u> , 2009	3.								
22										
23	Said Resolution was submitted for appr	oval to the office of the Chairman of the Tohono O'Odhan								
24		, 2008 at 3: 5-5 o'clock, ρ.M.								
25	-	of Article VII of the Constitution and will become effective								
26		e to either approve or disapprove it within 48 hours o								
27	submittal.									
28										
29		TOHONO O'ODHAM LEGISLATIVE COUNCIL								
30										
31	Į.	Telicia Nunea for								
32		- June mores to								
33		Verlon M. Jose, Legislative Chairman								
34										
35		. 0								
36	1. 6	18th. O. P.								
37	[√] APPROVED or	the /8 day of								
38	I DICADROVED	the 18 th day of July , 2008								
39 40	[] DISAPPROVED at	O'Clock, I.M.								
40 41		$\mathcal{N}_{\mathcal{O}} \mathcal{N}_{\mathcal{O}}$								
41		111/2/14								
42	11									
		ED NORDIS ID CHAIDMAN								
43		ED NORRIS, JR., CHAIRMAN								
		ED NORRIS, JR., CHAIRMAN OHONO O'ODHAM NATION								

	(Approval of Youth Suicide Prevention FY2008 Budget Amendment #1 that creates the Position Administrative Assistant cost shared with Recovery Community Services)
	Page 3 of 3
1	Returned to the Legislative Secretary on the \cancel{B}^{TH} day of
2	July , 2008, at 12:46 o'clock, p.M.
3 4	, 2008, at 10. 10 o'clock, 1 .m.
5	
6	Dannaman Aur:
7	Lucille Lopez, Acting Legislative Secretary
8	
9	
10	
11	
12	
13	
14	
15 16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28 29	
30	
31	
32	
33	
34	
35	
36	
37	
38	
39 40	
40 41	
42	
43	
44	
45	
46	
- 1	

ACTION: APPROVAL OF YOUTH SUICIDE PREVENTION FY2008 BUDGET AMENDMENT #1 THAT CREATES THE

POSITION ADMINISTRATIVE ASSISTANT COST SHARED WITH RECOVERY COMMUNITY SERVICES

MOVED: COUNCILWOMAN SANDRA ORTEGA SECOND: COUNCILWOMAN CYNTHIA E. MANUEL

DATE: JULY 10, 2008

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	FRANCES MIGUEL (Roberta Harvey)	158.45	x			
316.9	2. FRANCES G. ANTONE (Vernon Smith)	158.45	X			X
CHUKUT KUK	1. ETHEL GARCIA	132.40	x			
264.8	2. VERLON M. JOSE	132.40	X			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	x			
227.9	2. CYNTHIA E. MANUEL	113.95	x			
GU VO	1. GRACE MANUEL	99.60	x			· !
199.2	2. RAYMOND VICTOR	99.60	x			х
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	X			
PISINEMO	1. CHESTER ANTONE	91.20	x			
182.4	(Tony Murrietta) 2. GERALD FAYUANT ()	91.20	X			
SAN LUCY	1. LORRAINE EILER	90.55	x			
181.1	2. GLORIA RAMIREZ**	90.55	X			_
SAN XAVIER	1. FELICIA NUÑEZ (Adam P. Andrews)	98.25	x			
196.5	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	x			
SCHUK TOAK	1. FRANCES B. CONDE (Frederick Jose)	77.30	x			-
154.6	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	Х			
SELLS	1.KIMBERLY LISTO	222.35	x			
444.7	2.EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20	x			x
194.4	2. MARY LOPEZ	97.20	х			
	TOTAL	2,534.5	2,534.5	-0-	-0-	[04]